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        CODED RELATIONSHIP

'P ÷ Q' 'P, Q 

'P × Q' 'P, Q 

'P + Q' 'P, Q 

'P – Q' 'P, Q  

1. 'T × R + V ÷ S' T S 

1) 2) 

3) 4) 

5) 

2. 'T × R ÷ V – S' T S 

1) 2) 

3) 4) 

5) 

3. 'T + R – V + S' S T 

1) 2) 

3) 4) 

5) 

4. 'S, T 

1) T × R – V + S 2) T – R ÷ V × S

3) T – R + V ÷ S 4) T ÷ R × V + S

5) 

5. 'T ÷ R + V × S' V T 

1) 2) 

3) 4) 

5) 

(i) 'P × Q' 'P, Q 

(ii) 'P – Q' 'P, Q 

(iii) 'P + Q' 'P, Q 

(iv) 'P ÷ Q' 'P, Q 

6. 'M, R 

1) R ÷ D × M 2) R + D × M

3)  M – J × R + T 4)  R + M – T

5) 

7. 'K, W 

1) K – J + W 2) K × J ÷ W

3) K × J + W 4) W + J × K

5) 

'A × B' 'A, B 

'A ÷ B' 'A, B 

'A + B' 'A, B 

'A – B' 'A, B 

8. F ÷ R × H – L H F 

1) 2) 

3) 4) 

5) 

9. N, K 
1) K + L ÷ N × F 2)  K + L ÷ N – M

3) H × K ÷ N 4)  N × F + K

5) 

10. F – R + H ÷ T F T 

1) 2) 

3) 4) 

5) 

11. G × T + Q ÷ M M G 

1) 2) 

3) 4) 

5) 

(i) 'A × B' 'A, B 

(ii) 'A + B' 'A, B 

(iii) 'A ÷ B' 'A, B 

(iv) 'A – B' 'A, B 

12. 'P ÷ R – Q × T P T 

1) 2) 

3)  4) 

5)  

13. 'P ÷ Q + R × T T Q 

1) 2) 

3) 4) 

5) 

14. R, P 
1) P × R – Q – T 2)  P ÷ T + R – Q

3) P ÷ R – Q + T 4)  P × T – Q + R

5) 

15. 'R – P ÷ J × Q' J R 

1) 2) 

3) 4) 
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5) 

16. 'P + Q – R ÷ T' T P 

1) 2) 

3) 4) 

5) 

17. 'P × T ÷ Q + R' R P 

1) 2) 

3) 4) 

5) 

(i) 'P × Q' 'P, Q 

(ii) 'P – Q' 'P, Q 

(iii) 'P + Q' 'P, Q 

(iv) 'P ÷ Q' 'P, Q 

18. 'M, N 

1)  N – K + M 2) N × K ÷ M

3)  N ÷ K × M 4) N – K + M × T

5)  

19. H + T ÷ R – D T D 

1) 2) 

3) 4) 

5) 

20. F, W 
1) W ÷ R +  F 2)  W × R × F

3) W + R × F – T 4)  W + R – F + T

5) 

‘P © Q’  ‘Q, P ’

‘P # Q’  ‘P, Q ’

‘P = Q’  ‘Q, P ’

‘P £ Q’  ‘P, Q ’

‘PQ’  ‘P, Q ’

‘P @ Q’  ‘P, Q ’

21.
‘Q £ N @ S © M = P’?

(1) S, P 

(2) N 

(3) S, Q 

(4) P, Q 

(5) 

22. ‘P@R=S©T£V ?

(1) V, P (2) R, V 

(3) R, V (4) V, P 

(5) 

23. C, D
(1) C£V#N@L©D (2) C£V£L@N©D
(3) D£L£N@V©C (4) D£N#V@L©C
(5) 

24. Q, N
(1) QP#C@N@V (2) NP#C@Q@V
(3) M @ N # RQ (4) M © Q = V # N
(5) 

25.
'L= M #N © PQ'?

(1) Q, M (2) L, N

(3) N, Q (4) Q, N

(5) 

(i)   'P × Q' 'Q P' 

(ii)   'P – Q' 'Q P' 

(iii)  'P + Q' 'Q P' 

(iv)  'P ÷ Q' 'Q P' 

26. B + D × M ÷ N M B 

1) 2) 

3) 4) 

5) 

27. 'F J' 

1) J ÷ R – T × F

2) J + R – T × F

3) J ÷ M – N × F

4) 

5) 

28. 'M' 

R 
1) M ÷ K × T – R

2) M – J + R – N

3) R – M × T ÷ W

4) 

5) 

(i) ‘P × Q’ ‘P, Q ’
(ii) ‘P ÷ Q’ ‘P, Q ’

(iii) ‘P + Q’ ‘P, Q ’

(iv) ‘P – Q’ ‘P, Q ’

29. S R 
1) S × T ÷ J + R

2) R ÷ M – S + T

3) R – M ÷ S × T

4) R ÷ M – S × T
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5) 
30. M W 

1) M – J + W 2) M + J × W
3) M × T + W 4) M + J – W
5) 

(i) ‘A × B’  ‘A, B ’
(ii) ‘A ÷ B’   ‘A, B ’
(iii) ‘A + B’  ‘A, B ’
(iv) ‘A – B’  ‘A, B ’

31. J – T ÷ K + F  F  J 
1) 

2) 

3) 

4) 

5) 

32. R × H + D  R  D 

1) 
2) 
3) 
4) 
5) 

(i) ‘P × Q’ ‘P Q ’
(ii) ‘P ÷ Q’ ‘P Q ’
(iii) ‘P + Q’ ‘P Q ’
(iv) ‘P – Q’ ‘P Q ’

33. ‘M,  R
1) M × T + J ÷ R
2) R × K – M × T
3) R × K – M
4) R × K + M × T
5) 

34.  ‘D, T 

1) D × J + T 2) D × J – T
3) D ÷ J + T 4) D ÷ J – T
5) 

35.  ‘R, B 
1) R ÷ M + K – B 2) K + M ÷ R – B
3) B – T + R ÷ D 4) B – T + R
5) 

'A + B' 'A, B 

'A × B' 'A, B 

'A – B' 'A, B 

'A ÷ B' 'A, B 

36. 'J, D 
1) D × K + J ÷ H 2) D × K + H – J
3) D × K + J – H 4) D + K ÷ J

5) 

37. M ÷ L + T × R T M 

1) 2)  

3) 4)  

5) 

38. 'V, L 

1) V ÷ F + J – L 2) F × V + J – L

3) F ÷ V + J – L 4) V × F + J – L

5) 

‘P = Q’  ‘Q, P ’

‘P  Q’  ‘P, Q ’

‘P ? Q’  ‘Q, P ’

‘P $ Q’  ‘P, Q ’

‘P £ Q’  ‘Q, P ’.

‘P × Q’  ‘P, Q ’.

39.

1) L $ M  O  O, L 

2) M  O £ P = Q   Q  O 

3) P = Q ? R  R, P 

4) R × S ? T  R, T 

5) 

40.

1) L £ M $ R  R, L 

2) M $ R  D ? V  M, V 

3) D ? V × T  D, T 

4) V × T  P  P, V 

5) 

41. A, B

1) M × A = N = B (2) B $ L × Q × A

3) L B = S $ Q = A (4) B × L × A

5) 

42.  ‘F, G ’?

(1) L = F $ Q £ G

(2) G × M F $ L

(3) N $ F $ L× G

(4) G × L $ F $ N
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(5) 

43. ‘S × M  B £ L = F ? Q’ 

(1) M, L 

2) L, Q 

3) B, S 

4) F  B 

5) 

 (i) ‘P × Q; ’P, Q ’

(ii) ‘P – Q’  ‘P, Q ’

(iii) ‘P + Q’  ‘P, Q ’

(iv) ‘P ÷ Q’  ‘P, Q ’

44. ‘M, N ’?
1) M × R – N 2) N ÷ J + M ÷ D
3) N ÷ J + M 4) N × J – M

5) 

45.  'B, F '?
1) B + J – F 2) B – J + F
3) B × T – F 4) B ÷ T + F

5) 

46. ‘B + K ÷ T × M’ M K 

1) 2) 

3) 4) 

5) 
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CODED RELATIONSHIP
1. 5 2. 2 3. 4
4. 3 5. 1
6. 2
7. 4
8. 2;           R(+)

                  
    F(–)  H(+)    L(-)

Hence H is the brother of F.
9. 5; If N is the mother, then N must be a

female. Hence all the choices are ruled out.
10. 1;                       T
                                  |

)(H—)(R)(F 
Hence F is the son-in law of T.

11. 5; )(M)(G 

     

)(Q—)(T 
Hence M is the wife of G.

12. 1;  P ÷ R – Q × R means
P is Grandmother of T.

13. 5; The gender of 'T' is not clear so we can't be
determined the relation of 'T' with 'Q'.

14. 4
15. 2
16. 5; In P + Q – R ÷ T

T is cousin of P.
17. 3
18. 4; Reject (1), (2) and (3) because gender of M is not

known. Check the option (4).

N(-) — K(+)

|

 M(+) — T

It is obvious from the above family tree that ‘M’

is the nephew of ‘N’.

19. 5; Make a family tree of the given expression.

H (+)

|

T(-)

|

R(-) — D

Obviously, ‘T’ is the mother of ‘D’.

20. 3; Reject (1) and (2) because in these expressions

gender of F is not known.

Again, reject (4) because in the given expres-

sion ‘F’ has been represented as a male. Now,

check the option (3).

 W(+)

 |

 R(+) — F(-) — T

In the above family tree ‘F’ is the daughter of

‘W’.

21. 4; Make a family tree as shown here.

        )(N 

          |   

         )()()( P—M—SQ 

Look at the given expression carefully. The gen-
der of 'S' is not known therefore (1), (2) and (3)
are not necessarily true. (4) is true.

22. 1;

)()(

)()(

T—S—R
||

VP



 

Since the gender of 'R' is not known, (2) and (3)
are not necessarily true. Reject (4) because 'V'
is a male.

23. 3; Make family trees of the given expressions and
search for the right expression.

(1) )(N 

  |   

)(

)()(

C
|

D—LV





Here 'C' is the nephew of 'D'.       (Rejected)

(2) )(L 

  |   

)(

)()(

C
|

D—NV





Here 'C' is the nephew of 'D'.       (Rejected)

(3) )(N 

  |   

)(

)()(

D
|

C—VL





Here 'C' is the paternal uncle of 'D'. (Answer)

(4) )(V 

  |   

)(

)()(

D
|

C—LN





Here, 'C' is the maternal uncle of 'D'. (Rejected)
24. 2; Reject (1) and (4) because in these expressions

'Q' has been represented as a male. Reject (3)
because the gender of 'Q' is not known. Now,
check option (2).

)()( CN  

|      |

V
|
QP )()( 

Here, 'Q' is the daughter of 'N'.

25. 5; Look at the family tree given below:

QM—L
||
P—N

)(

)(





Reject (1) because 'Q' is the cousin of 'M'. Re-
ject (2) because L is the child of N. Reject (3)
because the gender of 'N' is not known. Reject
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(4) because the gender of 'Q' is not known.
26-28: To solve these questions you can take help of

family trees:
26. 3; We have

N—M

|

D

|

B

)(

)(

(–)





Obviously, M is the grandson of B.

27. 5 28. 2 29. 2 30. 4 31. 4 32. 3

33. 2 34. 1 35. 3 36. 3 37. 2 38. 4

39. 1 40. 2 41. 3 42. 4 43. 1 44. 2

45. 1 46. 4
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